Chapter 11. Radical Expressions and Triangles

Ex. 11.1

Answer 1CU.

In case of radical expressions, if the exponent of the variable inside the radical is even and the
resulting simplified exponent is odd, then absolute value is used to ensure nonnegative results.

For example: V{"_IZM

Here,

f _ 3
I4 = y*

since, the exponents of both ,* and ,? are even, therefore, absolute value is not necessary.

Answer 2CU.

Here

=
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—_—= multiply numerator and denominator by Ja,a> {}]
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Proved.

Answer 3CU.

An example of a binomial of the form g4p + N’E is 2J§+3\;’§ and its conjugate is

23-32]

Now

(23+342)(243-3v2) = (243) - (32)
=4-3-9.2
=12-18
=-6

Therefore. the product of 2,/3+3,2 and 2,/3-3./2 is [-¢]



Answer 4CU.
Here
J20=42-2.5 [prime factorization of 20]
=4/2°-5
=25

The simplest form is |2./5

Answer 5CU.
Here
J2.8=28 [ product property of square roots|

=+/2.2.2:2 [prime factorization of 8]
= }22 i 21
=4

The simplest form is

Answer 6CU.
Here
3J10-4410 =3-4.J10-10 [ﬁ:ﬁrﬁ fora>0and b> :}]
= 124/10°
~12:10
=120

Therefore, the simplified form is [120]-

Answer 7CU.

Here

V54a*h® =42:3:3-3-a%° [pr:'rnf: factorization uffnd]
=42-3:3 .’V
=3/6ab

The simplest form is (3, fgqb




Answer 8CU.

Here

Jﬁﬂxf‘yﬁ:JE-ErSrSr:"E1x2-_1'|-}?2r}||‘2‘r-}.|2
=1-x-x-y-y-y1|l3-5-_r
=2x*y’J15x

The simplest form is

Exzyj 15x

Answer 9CU.

Here

4

J6

4
N
N
6
_ 46
JE]2

_Z-2J6

=5
276

3

Eo

=

[lelliply by Tg}

—

The simplest form is

Answer 10CU.

Here
F__v‘.i
10 10
-ﬁﬁ multiply b @
o Tl T ply by 7=
_3 Vo
Jio Vo
= Jﬁ ope 4] uare rools
-[J]_ﬂ)z [property of sq ts]
i
T

The simplest form is

T
10

[prime factorization of 60]



Answer 11CU.

Here
8 8 (Hﬁ] ; [3+‘E)
G-2) (-3) (3:43) [“‘““"“”’"” (+42)
. 8(3+2)
)
_3(3+42) L
-32_[J§]1 [as (a=b)(a+b)=a b]
24482
S 9-2
24482
7
The simplest form is 24 +?B‘E .
Answer 12CU.
Here
2-@ = 2\1@ -4_\@ qulnl b == J_
4448 418 —4—8 Y B
= ] “@) (a+b)(a—b)=a’—b]
R
zJE(-d,-JTE]
- 16-8
25(-4-242)
B 8
A5 (2-42)
B £,
V5(-2-2)
3 2

V5(-2-42)|

Therefore, the simplified form is




Answer 14CU.
Consider the length of the pendulum,
lI=8.

Therefore, the period of the pendulum can be calculated as,

Period = 2. |1
32

,2’-3.|4-%

3.14

Answer 15PA.

Here
J18 =4/2.3 [ prime factorization of 18]

=32

Therefore, the simplified form is 3& .

Answer 16PA.
Here
J24=42.2.2.3 [prime factorization of 24]
=26

Therefore, the simplified form is EJE .




Answer 17PA.

Here

J80=42.2.2.2.5 [ prime factorization of 80]
=22.2%5
=45

Therefore, the simplified form is 4£ .

Answer 19PA.

Here

J5-J6 =156 [product property of square rt:u:-ts]
=30

Therefore, the simplified form is ||"3ﬂ .

Answer 20PA.
Here
J3-8=438 [product property of square roots]
=26

Therefore, the simplified form is Z-J’E .

Answer 21PA.
Here

7330246 =7-24/30-6 [pr(:-duc:t property of square rﬂms]
=1442-3-5-2.3
=144/22.2%.5
=14-2-35

=845

Therefore, the simplified form is |g4.(5]-




Answer 22PA.

Here

243-527=2-5J3-27 [product property of square roots]
=104/3-3-3-3
=10437 -3

=10-3-3

=90

Therefore, the simplified form is [gg)] .

Answer 23PA.

Here
V40a* =,[2°-2-5 -[:.-z}2 [prime factorization of 40]

= Ealﬁ

Therefore, the simplified form is |242./10|-

Answer 25PA.
Here

,/l 47x%y" = Ja- 7 -?-(x’}2 -(y’ }1 'y [ prime factorization of 147]

=) ()
=7x'y* 3y

Therefore, the simplified form is |7x°y*,[3y]-

Answer 26PA.

Here

72yt = \/ 2%:.2:3* .3 r( ¥ )2 ~[z2 )1 z [ prime factorization of 72|
=[E~3-I-}’2 -zz)xﬂi-x-z
=61}'122w@

Therefore, the simplified form is 5xy1221;‘gﬂ :




Answer 27PA.
Here

\E‘E=ﬁ [Na b =Jab fora>0 andb>0]
k:

Therefore, the simplified form is | [=].

Answer 28PA.

Here

\/_J_ g_ J_J_ af_farazﬂandbzlj]
E

5

Sl-s= j

_3 Ao
===
3410
TR

Therefore, the simplified form is

it

Answer 29PA.

Here
-l
8 2.2 2Y2

Therefore, the simplified form is |— |—|.




Answer 30PA.
Here

21 _ |33
pz Pl

]

Therefore, the simplified form is

Answer 31PA.
Here

= | w
&

Therefore, the simplified form is

[
24°

S|
d

Answer 32PA.
Here

'}15

F

Ex_}r J‘j
3x°

Exyu'gl

X+[3xy

ﬁ
Sitn

3

2y

Therefore, the simplified form is




Answer 33PA.

18 18 ['5+~5)

= . [rnultipl}r both numerator and denominator by 6 + 2 J

62 (6-+2) (6+2)

(o)
Here [6_ﬁ){6+ﬁ]
. 18(6++2
o)
18(6++2)
" 36-2
i Z-9(6+42)
o717
9(6++2)
:T
Therefore, the simplified form is 9(6""'5] :

Answer 34PA.

Here
2525 (4-B) ] )
SE R )M
_zﬁ(—f\t—\r’ﬁ)
(~4) -(VB)
25(-4-2"2)
(—4)*—(\!’5)2
25(-4-242)
T 16-8
A5 (-2-42)
——
_4’3[—2—@]

2

Therefore, the simplified form is




Answer 35PA.

Here

0 10 1-\2 [multilhﬁ_ﬁ]

VT2 (JT+42) T2 N 5
i 10(v7 -2
_(ﬁ+ﬁ][ﬁ-ﬁ]

_m(ﬁ—ﬁ)

@

10(v7-V2)

=

24(51-)

) .1

=2(V7-42)

Therefore, the simplified form is Z(ﬁ—ﬁ] .

Answer 36PA.

Here
£ = : -\E_ s lmultiply by M]
Ve 3+v6 3-6 V3-+/6
~ 2(V3-Ve)
(V3+6)(V3-6)
~2(V3-e)
BT
=2[¢§—J5)
3-6
zz[ﬁ—d’é)
-3
3(6-5)

Therefore, the simplified form is %[.J'E_ﬁ] _




Answer 37PA.

Here

LA 2 ~[4+3‘£) multiply b {4+3J§
4-3V3 (4-343) (4+3.3) i F{4+3J§)
4(4+3J§)
(4-343)(4+343)
_4[4+3J§)
_41—[34'5)2
4(4+343)
T T 16-27
4(4+343)
T
=—%(4+3J§}

e

Therefore, the simplified form is _i(.:] +3J§} .
11

Answer 38PA.
Here

1 ___ 3 (-3 multiply b i)
5VB+3V5 (5v3+345) (5¥3-345) P (55-345)

37 (5v3-345)
(5£+3£][5ﬁ—3£}

(s

(jﬁ]z—{h@}:
37 (543 -345)
75-45
_3~ﬁ(5~ﬁ—3d’5]
30
AV7(5V3-345)
- 310
V7(5V3-3V5)
10

Therefore, the simplified form is ﬁ(jﬁ_g,ﬁ) .
10




Answer 39PA.

The area 4 of a rectangle with width p and length ] is given by 4=p./.
Here, p=3/5,1=4.10. Therefore,
A=b-l
=(3V5)-(4v10)
=3-4J5-10
=1245:5-2
=12V5° -2
=12-5\2
= 60v2

Hence, the area of the rectangle is |§0+/2 centimeter?
Answer 40PA.

The area 4 of a rectangle with width p and length Jisgivenby A4=p-].

Here, b:\/Eﬁf:JE_Theremre,
2 8

A=h-{

_\F\F

=33

_ o o

.

42

]

Bo

Hence, the area of the rectangle is % meter”

Answer 41PA.

The area 4 of a square with side s is 4= ¢%.
Now,
A=5
s'=A
s=A [as area is positive]
For A4 =72 square inches .
5= \.G
=72
=62
=632

Hence, the side length of the square is |g./2 inches|-




Answer 42PA.

If g is the Kinetic energy in joules, m is the mass in kilograms, and v is the velocity in
meters per second, then the formula for the kinetic energy of a moving object is:

E=li‘HF=
2

MNow

E =ln1'w3
2
2E=mv
2E

v=|,|—
m

Answer 43PA.

If g is the Kinetic energy in joules, m is the mass in Kilograms, and v is the velocity in
meters per second, then the formula for the kinetic energy of a moving object is:

| I

E=—m~
MNow
|
E =—mv*
2E=mv"
_ |2E
i

Here m=0.6 kilogram £ =54 joules and hence

2E

V=

'|l i
_ [2:54
0.6

Therefore, velocity is |6./5 meters per second | -




Answer 44PA.

The escape velocity of an object is given by y = fl‘G_M . where G is universal gravitational
. R

constant, M is the mass and R is the radius of the object. Here,
_6.7x10" km
s'kg
M =74x10%kg
R=1.7x10"km

Now,

G

) :szﬁ,hm'?“x?,dxluﬂ km
‘ 1.7x10° s
Jz x6.7%7.4x10722

1.7
_\/hﬁ.?xmmﬂ-‘

1.7

=24

Therefore, the escape velocity is 2.4 —|.

The escape velocity for earth is | |_2k_mand the escape velocity for moon is 2_4k—m.
8 ]
Comparing these velocities, the escape velocity for earth is greater than that for moon.

Answer 45PA.
The speed of a caris given by s= ,l"3{}fd . where f is the coefficient of friction for the type
and condition of the road and the distance 4 in feet of its skid marks.

Here, f =0.6. therefore

s =+/30-0.6d
=+/18d

=+3%.24

Thus, the expression for the speed is (¢ = 3./24 |-




Answer 46PA.
The speed of acaris given by 5= ||'3{}fd . where jf is the coefficient of friction for the type

and condition of the road and the distance 4 in feet of its skid marks.

Here, f=0.8. therefore

s =+30-0.84

Thus, the expression for the speed is |y =2 "If:-d .

Answer 47PA.
The speed of a caris given by g = ﬂ'g{}fd . where [ is the coefficient of friction for the type
and condition of the road and the distance 4 in feet of its skid marks.
Here, & =110 feet.

For wet road condition, f =0.6. therefore

s =/30.0.6d
=184
=34/2-110
=3J2-2.55
=3+/2%-55

=655

=445

Thus, the speed for wet road condition is |44.5 mph]|.

For dry road condition, f =0.8, therefore

s =30-0.84
= \24d

=242-3.2.55

=2\/22.165

= 4165

=514

Thus, the speed for dry road condition is (51.4 mph|.




Answer 48PA.

The Hero's formula to calculate the area 4 of a triangle with side lengths a.b and c is

A =,f3{s—u}{s—b)(.s-—c] where g =%(a +b+c)

For a=13. h=103and =7, we have

s=%(l3+kﬂ+?]

~ 139
2

=[15]

Therefore, the value of s is |15 feet|.

Answer 49PA.

The Hero's formula to calculate the area 4 of a triangle with side lengths a.fb and c is

A=,fs{s—a}(.9—b}{.9—c] where S=%{a +h+c)
For a=13. p=10 and =7, we have

5 =%{13+lﬂ+?]

-1.30
2

=15
MNow,
A= [s(s—a)(s—b)(s—c)
= J15(15—13)(15-10)15-7)
=15.2-5.8
=+3.4%.5?
=4.53
=203

Therefore, the area is |20./3 feet?|-

Answer 50PA.

Here
L1 (a-1-Va) ; (a—1-+a)
a—1+-Ja -a—|+JE'[a—|—JE] mulcey By (a-1-a)
_ a—]—\.l'r;
(a=1)'~(Va)
_ a—l—\.l'r;
T gt -2a+l-a
_H—]—\III'E_J
Cat -3a+l
a—]—s.l'l'ﬁ_]' ]

Therefore, the simplified form is
a —3a+1




Answer 51PA.

wvarious formulas and calculations are used in space exploration that contains radical
expressions.

The escape velocity of an object is given by = Fﬂ . where G is universal gravitational
it R

constant, M is the mass and R is the radius of the object. That is, to determine the escape
velocity of a planet, you would need to know its radius and mass. It is very important to know
the escape velocity of a planet before you landed on it so you would know if you had enough
fuel and velocity to launch from it to get back into space.

Compare the escape velocities of two astronomical bodies with same mass, but different radii
as shown below:

Suppose l,:rl and RI is the escape velocity and radius of first astronomical body, and

pj and R, is the escape velocity and radius of second astronomical body. Therefore,

l {GM ,_ [GM
v, = [— v, = [—
R R,

MNow

Clearly, the astronomical body with the smaller radius would have a greater escape velocity. As
the radius decreases, the escape velocity increases.

Answer 52PA.

The surface area of a cube with side length s is given by g¢?. If the surface areais gg4°.
then

6s° =96a°

$t =ﬁaz
6

st =16a’
s=4a

Mow, the volume - of the cube is:
V=g
={4a)3

=|64a>



Answer 53PA.

Here
x=81h
Jx =+/8157

= J(on)
=[9]

Answer 54PA.

The formula for finding the windchill factor is
»=91.4-(91.4-1)[ 0.478+0.301(\x ~0.02)

Here, y represents the windchill factor, ¢ represents the air temperature in degrees
Fahrenheit, and x represents the wind speed in miles per hour.

Here, ;=12* and y=-9". Therefore, using graphing calculator:

Thus, the wind speed is approximately |6.93 miles per hour|.

Answer 55PA.

The formula for finding the windchill factor is
»=914-(91.4-1) 0.478+0.301(Vx -0.02) |

Here. y represents the windchill factor, ¢ represents the air temperature in degrees
Fahrenheit, and x represents the wind speed in miles per hour.

Here. ;=12° and x =4 milesperhour. Therefore, using graphing calculator:

¥ =91.4-(914-12)[ 0478 +0.301 (4 -0.02)
~6.126
Thus, it feels like [, 126 |With the windchill factor.

Answer 56PA.
Here

L
xtx?=+fx-x
z
()
=X
Therefore, the simplified form is _



Answer 57PA.
Here

(-

Therefore, the simplified form is

Answer 58PA.

Here

X
_xx
X

= x'/x

Therefore, the simplified form is

Answer 59PA.

Here

Na _a
ala

1
aa’

2
]

x/x|

Therefore, the simplified form is

o
N




Answer 60PA.

Here
L
|J" |‘3J§

s _of 1
=+| —
d RS«E]
1
/ 3

I
I+

1
D
\ 332

3

n
H-

—_— el
M-l..-|_'

Il
H

Wi
el ||

3

1
V3

Il
H

Therefore, the solutions are |+

sl

Answer 61PA.
Here

i g
[SEIZJ St =510

]
= 5" g2

S R
=S“¥&J;

Therefore, the simplified form is 3”1'“\1’; .




Answer 62MYS.
A geometric sequence with first term ¢ and common difference r is given by
a,ar,arz,--—

Here, the geometric sequence is 2,6,18,54 . Now,

=3

Therefare, the next three terms are:
54.3=

162-3=

486-3 =|1458

And the geometric sequence 2 6,18,54, ]52|‘ 486/, 1453|

Answer 63MYS.
A geometric sequence with first term @ and common difference p is given by

2
a,ar,ar’ -

Here, the geometric sequence is 1,-2,4,-8. Now,

Therefore, the next three terms are:
(-8)(-2)=
16-(-2)=
(-32)-(-2)=
And the geometric sequence 1,-2,4,-8,[16],[-32],[64]



Answer 64MYS.

A geometric sequence with first term @ and common difference p is given by

2
ayar,ar’ -

Here, the geometric sequence is 384,192,946, 48. Now,

ar
r=—

o
192

384

Therefore, the next three terms are:

— o e

b = =

[ = b ]| = b | =
1] 1]
HEN

[}
[=]

And the geometric sequence 384,192,96,48,[24],[12],[¢]
Answer 65MYS.

A geometric sequence with first term @ and common difference p is given by

2
ayar,ar’ e

Here, the geometric sequence is 5,3,4,24. MNow,

~
Il

Cl=lwit g |

=Z:0
3

=0

Therefore, the next three terms are:
24.6=[144]

144 -6 = 864/

864-6=|5184

And the geometric sequence égq 24,

144],[864

5184/




Answer 66MYS.

A geometric sequence with first term a and common difference » is given by

a,ar,arz,-"
: : 3 3 3
Here, the geometric sequence is 3,— —,— . Now,
4 16 64
ar
r==—
i
3
=4
3
)
4
Therefore, the next three terms are:
L LA
64 4 |256
301 (3
256 4 1024
3 1.[3
1024 4 | 4096
3 3 3 3

And the geometric sequence 3

L] L]

3
1664|256 1024 [ | 4096

B w

Answer 67MYS.

A geometric sequence with first term @ and common difference p is given by
1
a.ar,ar” -

Here, the geometric sequence is 50,10,2,0.4. Now.

Therefare, the next three terms are:

=
=

0.0032

=]
=
o

= w|= | —
Il

I:

o0

0.016-
J

And the geometric sequence 50,10,2,0.4,[0.08],[0.016],/0.0032]




Answer 68MYS.

The initial number of bacteria is 1000. After 2 hours, it will be 2000 and so on.

The growth sequence of the bacteria is 1000, 2000,4000,---. This is a geometric sequence.

Here, the first term 5 =1000 and common ratio is p= ]zgm = 2. Therefore, the number of

bacteria after 24 hours is:

24

ar? =1000-2"
=1000- 4096

= 14096000

Answer 69MYS.
The modeled equation of cooling of the coffee is y = ?5({],3?5)’.
For r=15.we have:
y=75(0.875)
=75(0.875)"

= Tﬁ{ﬂ.1349)
= 0.1

Therefore, the temperature of the coffee after 15 minutes is 95-(10.1) =|84.9°C|-

Answer 70MYS.
The trinomial is gx* +7x—5
Now,
6x” +7x-5=6x" +10x-3x-5
=2x(3x+5)-1(3x+5)
=(3x+5)(2x-1)

The factored trinomial is |(3x+5)(2x-1)|.

Answer 71MYS.
The trinomial is 35y —43x+12

Mow,

35x7 —43x+12=35x" - 28x—15x+12
=T7x(5x-4)-3(5x-4)
=(5x—4)(7x-3)

The factored trinomial is |(5x—4)(7x-3)|.




Answer 72MYS.

The trinomial is 5x2 4 3x+31]

This trinomial cannot be written as the form of [x+ a}{x+ b)_ Therefore, the trinomial is

prime

Answer 73MYS.

The trinomial is 3% — gx—105

Now,

3¢* —6x—105 =3(x* —2x-35)
=3(x3 ~Tx +5x—35}
=3(x(x-7)+5(x-7))
=3(x+5)(x-7)

The factored trinomial is (3(x+5)(x—7)|.

Answer 74MYS.

The trinomial is 45 —12x+15

This trinomial cannot be written as the form of [x+ a}(x+ b). Therefore, the trinomial is

prime

Answer 75MYS.
The trinomial is 8x* —10x+3
Now,

8 —10x+3=8x"-6x—4x+3
=2x(4x-3)-1(4x-3)
=(4x-3)(2x-1)

The factored trinomial is |(4x-3)(2x-1)|.




Answer 76 MYS.
The equation is y =3x+2 and the replacement set is {(1,5),(2,5],{-2,2)1[-4,4 []I)}
For (1,5)

y=3x+2
5=3-1+2
5=3+2
a=5
This is true.
For (2,6)
y=3-2+2
6=6+2
6=8
This is not true.

For (-2,2]

y=3(-2)+2
PR
2-4

This is not true.

For (—4,-10)

y=3-(-4)+(-10)
-10=-12-10
-10=-22

This is not true.

Therefore, the solution setis |{(1,5)})-




Answer 77MYS.

The equation is 5x+ 2y =10 and the replacement set is {(3,5),(2,(!].,{4,2),(1,2.5]}.
For (3,5)

Sx+2y=10
5-3+2-5=10
15+410=10
25=10
This is not true.
For (2,0)
Sx+2y=10
5:-242:0=10
10+0=10
10=10
This is true.
For (4,2)
5x+2y=10
5-4+42-2=10
20+4=10
24=10
This is not true.
For (1,2.5)
Sx+2y=10
5.142:(2.5)=10
5+5=10
10=10

This is true.

Therefore, the solution setis |{(2,0),(1,2.5)}|.




Answer 78MYS.
The equation is 3g+2k =11 and the replacement set is {(—3.,I{]],{4+1),[2,2.5]+(3,-2}j.
For (-3,10)

Ja+2b=11
3(=3)+2:10=11
-9+20=11
1i=11
This is true.
For (4,1
Ja+2b=11
3:4+2:1=11
12+2=11
14=11
This is not true.
For (2,2.5)
Ja+2b=11
3:.2+2.25=11
6+5=11
I11=11
This is true.
For (3,-2)
Ja+2b=11
3-3+2-(-2)=11
9-4=11
5=11

This is not true.

Therefore, the solution setis |{(-3,10),(2,2.5)}|.

Answer 79MYS.

The equation is 5_%_1; =2y and the replacement set is {(I},I],(S,E},[f’;,—%}{ll}}.

For (0,1)



3
5-=x=2
) v

E—Eﬂ=24
2

5-0=2
5=2
This is not true.

For [3*2}

3
Subig=?
T

5-3.8=2.2
2

5-12=4
—7=4

This is not true.

For [‘L—l]
2

3
5-Zx=2
il d

5_3.4: ;_r.[_l]
2 2

5-6=-1
~1=-1

This is true.

For (z,|}

3
5——=x=2
2 ¥

S—EQ=24
2

5-3=2
2=2

This is true.

Therefare, the solution set is

)




Answer 80MYS.
The equation is 40 = -5
Now

40=-5d
~5d =40

Check:

40 =-5d

40 =(-5)-(-8)
40 =40

This is true.

Therefore, the solution is .

Answer 81MYS.
The equationis 20.4=34y
MNow
204=34y
34y=204

204

B
-6

Check:
204=34y
204=34-6
204=204

This is true.

J.'

Therefore, the solution is @



Answer 82MYS.

The equation is i

=-25
Now
A as
-11
h=(-11)(-25)
=11-25
=275
Check
s
-11
2B _ s
-11
=25=-25
This is true.

Therefore, the solution is .

Answer 83MYS.

The equation is —65=——

Mow

—65=—
29
L =65
29

r=(—65}-29
=—]1885
Check:

—65=—
29
g5 o183
29

—65=-65
This is true.

Therefore, the solution is .



Answer 84MYS.
Here
(x=3)(x+2)=x(x+2)-3(x+2)
=x’+x-2-3.-x-3-2
=x'+2x-3x-6
=x’-3x-6

Therefore, the product is _

Answer 85MYS.
Here
[a+2][a+5}=a{a+ 5]+2[a+5}
=a*+a-5+2-a+2-5
=x*+5a+2a+10

=x*+7a+10

Therefore, the product is .

Answer 86MYS.

Here

(20 +1)(r—6)=2t(r-6)+1(r-6)
=21 -2t-6+1-1-1-6
=21 —12t+1-6
=20 -11t-6

Therefore, the productis |2,2 _117-6|-

Answer 87MYS.
Here
(4x=3)(x+1)=4x(x+1)-3(x+1)
=4x* +4x-1-3-x-31
=4x’ +4x-3x-3
=4x* +x-3
Therefore. the product is .



Answer 88MYS.
Here
(5.\‘ +3y][3x—y] = 5;{31—y}+3y{3x—y}
=15x* =5x-y+3y-3x-3y-y
=15x° = 5xy +9xy-3)°
=15x" +4xy=-3y°

Therefore, the product is |15x% + 4xy -3y |-

Answer 89MYS.

Here

(3a—2b)(4a+7b) =3a(4a+7b)—2b(4a+7b)
=12a" +3a-Tb—-2b-4a-2b-7b
=124’ + 2lab—8ab—14b’
=12a" +13ab—14b°

Therefore, the product is (1247 +13ab—1452|




